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4)

1.000

1.000
t=15cm 1,100.000 1
BH @ 60, 1,800.000 2
BH Q 75, 60.000 3
1,100.000 4
250.000 m3 5
250.000 m3 6
Dt 250.000 m3 7
Dt 250.000 m3 8
250.000 m3 9

1.000
20 13mm 270.000 m3 10
50m 270.000 m3 11
50m 9.200 ton 12
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4)

L=600.,¢ 60, 2,950.000 13
@ 60, 9.000 14
90°
o0 60, 11.000 15
@ 60, 24.000 16
@ 60, 33.000 17
@75, 102.000 18
@75, 14.000 19
90°
@75, 1.000 20
© 75, 10.000 21
@ 75 10.000 22
300 10.000 23
@ 75 10.000 24
1.000
1.000
t=15cm 10.000 25
BH Q75 W VP 100.000 26
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10.000 27
6.000 28
4.200 29
1.000 m3 30
4.200 31
10.000 32
1.000
W @75 89.000 33
@ 75.W 89.000 34
VP @75 12.000 35
@ 75,VP 12.000 36
1.000
1.000
1.870 ha 37
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1
t=15cm 1.000
( )
1.000 14
2
BH @ 60, 1.000
( )
0.5 h 0.7 , (@ 60mm 1.000 10
3
BH @ 75, 1.000
( )
0.5 h 0.7 , L@ 75mm 1.000 11
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1.000
1.000 15
m3 1.000 m3
SP
1.110 m3 16
m3 1.000 m3
80m 1.000 m3 1
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13)

7
Dt m3 1.000 m3
SP
( 1.110 m3 16
SP
). (10,000m3 ). 1.110 m3 18
8
Dt m3 1.000 m3
SP
0.28m3( 0.2m3), ( .1.0k 1.000 m3 17
m
9
m3 1.000 m3
SP
), (10,000m3 )., 1.110 m3 18
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10
20 13mm m3 1.000 m3
) 20 13mm, 1.000 m3
11
50m m3 1.000 m3
( )
2-3t,50m 1.000 m3
12
50m ton 1.000 ton
( )
2.0t,50m 1.000 ton
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16
© 60, 1.000
@ 60x 75 1.000
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© 60, 1.000
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© 75, 1.000
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1.000
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22
@75 1.000
© 75 1.000

23
300 1.000
300 1.000

24
© 75 1.000
© 75 1.000
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25
t=15cm 1.000
( )
1.000 14
26
BH @ 75,VU VP 1.000
( )
0.5 h 0.7 ,@© 50 75mm 1.000 12
27
1.000
( )
1.000 15
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28
1.000
SP
.15cm 2ma 1.000 21
29
1.000
SP
,15cm ama . 1.000 20
30
m3 1.000 m3
SP
. ( ), ,12.0km 1.000 m3 19
1.000 m3 5
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31
1.000
SP
1.4m 1 50mm ,40mm, (2.30 2.40t/m3 ). 1.000 24
, (20)
SP
RM-30,-,-,1 ,0mm, 70mm 1.000 23
SP
110mm,1 RC-40 1.000 22
32
1.000
@ 150 1.000 2
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33
VU @75 4.000
VU 75 4.0m 1.000
34
@ 75,W 1.000
)
.=,50m 1.000 7
35
VP @75 4.000
VP 75 4.0m 1.000
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36
@ 75,VP 1.000
)
,—.o0m 1.000 7
37
ha 1.000 ha
,5.0 m3/ha 1.000 ha 6
38
ha 1.000 ha
( )
,39 ,60 ,1 1.000 ha 13
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m3 1.000
:8.0 :0.0
80m :0.0
1 80m : :0.0
:0.0
@)1 < >
1.690
140.000
1.000
242.000 m3
m3
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1 ¢ 150 : :0.0
:0.0
@150 70 0.500
@ 150 250 0.200
@ 150 80 0.100
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1.000
) < >
1.850
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3
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5 20 13mm 1.000 m3
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,5.0 m3/ha :0.0
1 : :0.0
2) 5.0 m3/ha :0.0
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1.000 ha
ha
) 1.000
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2) :0.0
3) -
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5,660.000
) ton 1.000
) :8.0 :0.0
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l) :0.0
2) 2.0t :0.0
3) 50m
4)
2 )l < 2
1.550
14.000
1.000
0.390
7.200 ton
ton
m3 1.000
:8.0 :0.0
2-3t,50m :0.0
1 : :0.0
2) 2-3t :0.0
3) 50m
(2014)] < >
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1.000
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[ ( 2014)] < >
1.390
88.000
1.000
887.000

15




( 10/ 14

N 1.000
) :8.0 :0.0
:0.0
D : :0.0
2) :0.0
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1

P96002 | L=600,¢ 60 340 4
P96003 | L=600,¢ 75 361 18
P96004 |@ 60 T 1,030 14
P96005 |@ 75 T 1,080 19
P96006 | @ 60 90° 680 15
P96007 | @ 75 90° 722 20
P96012 | @ 75 722 21
P96013 | @ 60x 75 680 16
P96014 | @ 60 165 17
P96016 | @ 75 16,100 22
P96017 | 300 5,580 23
P96018 | @ 75 5,220 24
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1) WK
FHE t=15cm 1,106.7 m3
ISR T (D) Ny 316.8 m3
Fe i E 645.4 m2
RFIRPEK T (RFIRBE K AT %) fRE ¢ 60 1,781.4 m
& ¢ 75 62.9 m
W% ¢ 90 0.0 m
W IRHEAK T (BB AN) BRI A 20~ 13 253.6 m3
IR T (HR) 64.5 m3
RERPEK T i (% - %) ) 50mPL T 9.2 t
WFRHE K T CDNiE: (BEA) ) 50mPA T [HIER%E ] 266.3 m3
#LEL t=15cm 1,106.7 m3
(B )
FEIA OL—X) 252.3 m3
L NS K 252.3 m3
FEIA OL—X) 252.3 m3
TR 252.3 m3
T 252.3 m3
2) EAKIE - HKIE
FHE t=15cm 2.6 m3
ISR T (D) N yJEy - H=0.5 8.8 m3
Fe i E 18.7 m2
FIRHE K T (KRR EAER) VU(VP) ¢ 75 101.2 m
VU(VP) ¢ 100 0.0 m
IR T (HR) 8.5 m3
ERPEK T i (RFRPEKE) ) 50mPL T 101.2 m
#LEL 2.6 m3
EiEli 6.0 m
B LS R 4.2 m2
*=E 4.2 m2
| A 4.2 m2
T JE 4.2 m2
AsiAL Ty 0.2 m3
e iy 0.8 m3
HIFL 10.0 L
(B )
FEIA OL—X) 0.20 m3
TR L=2. Okm 0.20 m3
T 0.20 m3
3) Bk
Bt VESEARS . BLATA 1.87 ha
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XS ¢ 60 2,950 A&
® 75 102 A
$ 90 0 A
T5%& ¢ 60 9 K
® 75 14 K
$ 90 0 A
90° L7 ¢ 60 11 A
® 75 1 K
$ 90 0 A
45° L7 ¢ 60 0 &K
® 75 0 K
$ 90 0 A
YT ¢ 60 0 K
® 75 0 &K
$ 90 0 A
Iy bk ¢ 60 0 &K
® 75 10 A
$ 90 0 A
s $ 60X 75 24 K
$ 75X 90 0 A
1E#E ¢ 60 33 M
¢ 75 0
$ 100 0
2) EARYEE = VE
VU ® 75 89.2 m
¢ 100 0.0 m
VPAE ® 75 12.0 m
¢ 100 0.0 m
3) DVitF
90° T /LR ¢ 75 0 &
¢ 100 ]
45° T LR ¢ 75 0 &
¢ 100 1
22°1/2 ¢ 75 0 &
¢ 100 1
4) /KI[H
TR 7K ] $ 75 10 A
$ 100 0 f#
et as 300774 10 {#
BT A 20~13 0.0 m3
77 v 7 IR ¢ 75 10 f@
$ 100 0 f#
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M W[ B My M R ME RME RN OR[N EIRE W
X i 2 5 BEARED | BEARE | BEARIX | BERRI | BEAREQ | BEARE | BEARIXT | BRI | BEARE i & F i &
) ) 3) ) (5) (6) ) (®) )
ﬁf ¢ 60 297.3| 214.9] 1269.2 m | 1781.4
Paras
5 ¢ 75 13.0]  49.9 m 62.9
" $ 90
m
® 60 493 356 2101 g 2950
[EN=4
e L=600 | ¢75 21 81 A 102
H
$ 90 ZN
® 60 9 g 9
s g
TFE | 075 2 2 10 g 14
$ 90 ZN
HE ¢ 60 2 2 7 A 11
90°
LFE | 075 1 A 1
$ 90 ZN
7K
¢ 60 ZN
45°
LFE | 075 A
g 090 %
¢ 60 ZN
M | YFE [Lo75 A
¢ 90 ZN
- ¢ 60 ZN
Vo | 75 2 1 7 g 10
¢ 90 ZN
¢ 60
iz
R X ¢ 75 4 3 17 ZN 24
¢ 75
X ¢90 &
Bl ® 60 4 3 26 " 33
$ 90 &)
BN ER 1.4 1.1 6.7 t 9.2
£HHE 178.4] 136.8] 791.5 m3 | 1106.7
+
#RHI BH 53.0| 36.4] 227.4 m3 316.8
T [Em#EE 104.0] 79.8] 461.6 m2 645.4
W 42.9] 28.4] 182.3 m3 253.6
%
MR 10.4 8.0 46.1 m3 64.5
&7 [REEL 178.4] 136.8] 791.5 m3 | 1106.7
%+ 42.6]  28.4] 181.3 m3 252.3
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ait}n,% B e TIER: (m) B () TFE(R) 90°LFE(A) A5 LFE(R) YA (AR) 1>/ 2 NA) J VR () 1R Wy PEBRIE R (m)
5 $60| 675 ¢690| ¢60| ¢75| ¢90| ¢60| ¢ 75| $90| 60| 6 75| 90| ¢60| ¢75| ¢90| $60| ¢ 75| $90| 60| ¢ 75| ¢ 90| e6ox75|675x90| $60| GT5| $p90| $60| ¢ 75| ¢ 90
57 | iy @ | 67.4 112 1 0.24
K @ | 67.6 112 1 0.16
B ® | 678 113 1 0.24
A | @ | 67.0 111 1 0.16
3 1269.8 448 4
13.8+13.7
WAKEB | 27.5 45 2 2 2 4 0.69
WK Eh e etk
ait}n,% O e TIER: (m) 1B () TFE(R) 90°LFE(AR) A5 LFE(R) YA (AR) B> r o NR) | A E(R) 1R
5 660 675 ¢90| ¢60| ¢75| ¢90| ¢60| ¢ 75| $90| 660 6 75| 90| ¢60| ¢75| ¢90| $60| ¢ 75| $90| 60| 75| ¢ 90| esox75| 69| $60| 75| ¢ 90
WKIEA 269.8 448 4
WK IEB 27.5 45 2 2 2 4
it 297.3 493 2 2 2 4 4
KT R/ NEER R EEEER
5 [EXE{E) T4 (kg) 90°L 74 (kg) 45’'L 74 (kg) Y7 (kg) M robkg) | A v&E (ke 1D ZE((kg) i
Ean il 660 675] 90| ¢60| ¢75] ¢90| ¢60| 75| ¢90| $60| ¢ 75| $90| $60| ¢ 75| 90| ¢60| ¢ 75| 90| e60x7s[675x90| 60| 75| ¢ 90 L)
3.0kg/ A< | 4.0kg/ A | 5.5kg/ A | 1.8kg/ A | 2.5kg/A| 3.0kg/ A 1.3kg/A| 1.8kg/A| 2.5kg/ A | 1.2kg/A| 1.7kg/A| 2.2kg/ A | 2.0kg/ A | 2.9kg/ A | 3.8kg/A| 0.9kg/ A 1.2kg/A| 1.6kg/A| 0.9kg/A| 1.0kg/A| 0.2kg/ | 0.3kg/Hz| 0.4kg/
WKIEA 1344.0 0.8 1.3
WK IEB 135.0 5.0 2.6 2.4 3.6 0.1
it 1479.0 5.0 2.6 2.4 3.6 0.8 1.4




WoKIR MR HERER

5 e JE THEF: (m) EAER) TFHER) LT () 45 LT R) YFEE) ME R | FEEOR) 1D WD) B HEBRAE = (m)
Bk $60| 075 690 ¢60[ ¢75] 90| 60| 675| ¥ 90| ¢60]| 75| 9 90| 660| ¥ 75[ ¢90| $60| 975 690 | 60| ¢ 75| ¢ 90 [oa0xs|o7sxa0| $60[ ¢ 75| $90| 60| ¢ 75| ¢ 90
121 |y L@ | 66.3 110 1 0.16

Kk @ | 68.6 114 1 0.21

B | @ | 69.2 115 1 0.16

A

#2041 339 3
2.0+8.8
AGEB | 10.8] 13.0 7] 21 2 2 1 3 0.76] 0.29

Wokite TEHEOR HE

£ i 7 Jifi THE R (m) [ERELED) TFECR) 90°LFE () 45’ L5 () YFEEOR) B sy b)) | RGN 1B EHR)
& 60| ¢75| 690| ¢60| 75| 90| ¢60| ¢ 75| $90| ¢60| ¢ 75| 90| ¢60| ¢ 75| $90| $60| ¢75| ¢90| $60| ¢ 75| ¢ 90| es0xrs| 675x90[ $60| ¢ 75| ¢90
WAKIEA 204.1 339 3
K IEB 10.8] 13.0 17] 21 2 2 1 3
it 214.9] 13.0 356] 21 2 2 1 3 3
WoKIE R/ INEREOR R
- B (kg) T5% (kg) 90'LFE (kg) 45’ L5 (kg) Y5 (kg) M o bkg) | J%E (kg) - (kg) A
P il 060 ¢75] $90| 60| $675] ¢90| $60| 675 90| #60| 75| #90| 660 dT5[ $90| $60| ¢ 75| ¢ 90 | esox7s| 6r5x90| $60| ¢ 75| ¢ 90 [EEI0)
3.0kg/A| 4.0kg/ A 5.5kg/A%| 1.8kg/A| 2.5kg/ A 3.0kg/ 4| 1.3kg/A| 1.8kg/ A 2.5kg/ 4| 1.2kg/A| 1.7kg/A| 2.2kg/ 4| 2.0kg/ 4| 2.9kg/ A 3.8kg/A%| 0.9kg/A| 1.2kg/ A 1.6kg/A%| 0.9kg/A| 1.0kg/A| 0.2kg/#z| 0.3kg/ | 0.4kg/ 4
WoKIEA  [1017.0 0.6 1.0
K IEB 51.0] 84.0 5.0 2.6 1.2 2.7 0.1
it 1068.0[ 84.0 5.0 2.6 1.2 2.7 0.6 1.1




WoKBE BRSO SRR

E5 | g i THER: (m) TEAE (OR) THFEO) 90LFAE(A) A5 LFER) YFER) i oK) | REEOR) JIRECS B WPERRAE Z (m)
& 60| 675] 090] 60| ¢75[ 690]| 660] 6 75[ 690]| 660] ¢ 75] 690]| 660] 75| 690]| 660] 6 75[ 690 6 60| & 75[ ¢ 90| ee0xs|er5x90f $60| 675 ¥ 90| ¢60]| 6 75] ¢ 90
83 " @® | 473 78 1 0.24
K 2 {472 78 1 0.21
w | © | 47.1 8 1 0.21
A L@ [ 470 78 1 0.08
5 | 435 72 1 0.16
it 232.1 384 5
WKIEB | 23.4] 23.4 38| 38 1 3 1 1 4 0.61] 0.43
89 " @® | 279 46 1 0.24
K @ st 96 1 0.21
w | © | 721 120 L 0.16
AL® 719 119 1 0.24
5 | 69.5 116 1 0.16
gt 299.1 497 5
15.0+15.0
WKIEB | 30.0] 12.2 49] 20 3 2 2 5 0.73] 0.20
9 [ LD | 716 119 1 0.24
X L@ [ 715 119 1 0.08
R’ 1O [ 713 119 1 0.16
A
it |214.4 357 3
WOKIEB | 21.4 35 1 1 1 1 2 0.58
91 | g L@ | 140 23 1 0.24
K |1L® | 13.8 23 1 0.08
R’ |1 ®[135 22 1 0.08
Al®@]133 22 1 0.16
gt | 54.6 90 4
EB | 42.2 69 2 1 1 1 2 0.81
124 " ® | 19.7 32 1 0.24
K 2t 36 1 0.08
w | © | 214 36 L 0.08
A L@ [214 36 1 0.08
5 | 202 33 1 0.16
it 104.1 173 5
: 48.1 78 3 1 1 1 2 1.04
131 52.5 87 1 0.24
52.6 87 1 0.52
33.0 55 1 0.08
33.0 55 1 0.16
171.1 284 4
28.7] 14.3 47] 23 2 1 1 1 1 2 0.45| 0.23
WK M B R
AN i TIER: (m) TELAE (OR) THFEO) 90LFAE(A) A5 LFER) YFER) i oK) | REEO) 1D EFD)
& 60| 675] 690]| 60| ¢ 75[ 690]| v60] 675[ 690]| 660] ¢ 75[ 690]| 660] 6 75] 690]| 660] 6 75] 690]| 6 60| & 75[ ¢ 90| se0x75| 61590 $60]| $75] & 90
WOKIEA 1075.4 1785 2
WIKIEB 193.8] 49.9 316 81 9] 10 7 1 7 17
i 1269.2] 49.9 2101 81 9] 10 7 1 7 17 26
WK B/ INERREOR R
i H % (kg) T5 % (kg) 90°L 54 (kg) 4555 (kg) Y (kg) s rob(kg) | v (ke) 1k #E(kg) )
P [l 660 ¢75) 090 060| 75| 690| 660| ¢ 75| 690 ¥60| ¢75| ¢90| ¢660[ ¢75| 690| ¢ 60| & 75| 90 [s60x75| 675290| $60| ¢ 75| ¢ 90 [EEO)
3.0kg/A%| 4.0kg/A<| 5.5ke/ A% | 1.8kg/ 4| 2.5ka/ 4| 3.0ka/A%| 1.3ke/A%| 1.8ke/ A | 2.5ka/ 4| 1.2ka/ A 1.7ke/ 4| 2.2ke/ A% | 2.0kg/ 4| 2.9kg/ 45| 3.8ke/#<| 0.9ke/A%| 1.2ke/ 45| 1.6ka/ 4| 0.9ke/A%| 1.0ke/A%| 0.2ke/H| 0.3ke/H | 0.4ke/Fi|
WKIEA 5355.0 5.2 5.4
WOKIEB  |948.0]324.0 16.2] 25.0 9.1] 1.8 8.4 15.3 1.3
i 6303.0{324.0 16.2] 25.0 9.1] 1.8 8.4 15.3 5.2 6.7




WoKEE BT HERAERR
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57 K EEA | 269.8 WL50- 161.9 47.2 94.4 38.0 9.4] 161.9 37.8
X I
% KIEB 27.5 H20%2 16.5 5.8 9.6 4.9 1.0 16.5 4.8
(m) (m) (m) (m3) (m3) (m2) (m3) (m3) (m3) (m3)
22 % it 297.3 178.4 53.0] 104.0 42.9 10.4| 178.4 42.6
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o] HREI FIE BH e RL
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121 | WRKIEA | 204.1 WL50- 122.5| 32.2| 71.4| 25.1 7.1] 122.5] 25.1
H107%! .
Wy A IER 10.8 6.5 1.9 3.8 1.5 0.4 6.5 1.5
13.0 7.8 2.3 4.6 1.8 0.5 7.8 1.8
(m) (m) (m) (m3) (m3) (m2) (m3) (m3) (m3) (m3)
20 % i 214.9( 13.0 136.8 36.4 79.8 28.4 8.0 136.8 28.4
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12.2 7.3 2.6 4.3 2.1 0.4 7.3 2.1
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(m) (m) (m) (m3) (m3) (m2) (m3) (m3) (m3) (m3)
18 4 i 1269.2| 49.9 791.5| 227.4| 461.6 182.3| 46.1] 791.5 181.3
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S
VU 675 8.8 1.9 785 m 89.2
K $ 100 m
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o ¢ 100 m
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o | Dveer #
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675 45 1"
22°1/2 1
KK 975 2 1 7 " 10
K ¢ 100 1
T b
KR | 3007 2 1 7 1" 10
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i 0.01 0.03 m3 0.04
]
77 | 75 2 1 7 Ve 10
Z—h
¢ 100 1
KIHx 0.5 0.3 1.8 m3 2.6
#RHI BH 1.7 1.4 5.7 m3 8.8
+ | EEEE 3.1 3.2 124 m2 18.7
R 1.6 1.3 5.6 m3 8.5
FHEL 0.5 0.3 1.8 m3 2.6
ol 0.1 0.1 3 0.2
el 3.0 3.0 m 6.0
EER A 2.1 2.1 m2 4.2
o
xE 2.1 2.1 m2 4.2
b JE 2.1 2.1 m?2 4.2
T s 2.1 2.1 m?2 4.2
%
AsikiL Sy 0.1 0.1 m3 0.2
Wt Ly 0.4 0.4 m3 0.8
HilfL 2 1 7 fL 10
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H20% eV 2.0
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K + T EER R
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H20% eV 1.0
— H 1 _ _ _ _ _ _ _ 4254.8mDO N, 83FIT D KIE
124 WLS;)FU 54.8 ES7 8 4.2 0.2 0.8 1.5 0.8 0.2 17 3m) L H I, 3y B S
H207%E T 1.0[1=50.6m#% 4= T3 HAE R/ D IEER,
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AR \E5EE i A (m2) ik
57 3,230
(/i) 3,230
121 2,280
(/NEt) 2,280
83 2,610
89 4,300
90 1,930
91 810
124 1,350
131 2,190
(2R 13,190
e (m2) 18,700
(&5 (ha) 1.87
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T T H BB
FHES | OfEm2) | @E2(m) | OXO® i
57 3,230 43 138,890
121 2,280 22 50,160
83 2,610 48 125,280
89 4,300 59 253,700
90 1,930 23 44,390
91 810 14 11,340
124 1,350 21 28,350
131 2,190 35 76,650
[8 %] 18,700 265 728,760
il= 728,760 - 18,700
= 39
CERJhifE - 53370)
Ei= 2,338 - 39
= 60
39
60
m
HXoEDE 39 m
HXOEDE 60 m
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